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All the answers should be written dnly in English.
Section A is compulsory.
Attempt any four questions from Section B.
All questions carry equal marks.
Section A
1.  Explain any three of the following, giving suitable examples : 3x5=15
(@) Explain the cases where ‘H.’ upward is used.
() What is Grammalogues ?
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(¢) Give four words where ‘N’ and ‘F’ ‘hooks are used in phraseography.
d Expiain circle ‘S’ and ‘Z’.
(¢) What is the difference between a preﬁx and a suffix ?
Section B
Fill in the blanks with app}opfigte word given in the bracket : 15
() Writing of any Stroke N .......ccccowceereeunes the size of its pdrmal length is called halving
principle. (half/double)
(i) A final hook .coviriiiniiicrsinens (can/cannot) be employed when the word ends with
a vowel sound. |
(iii) A semicircle is employed e eeeeeeee e as an alternative to the stroke ‘W’.
(mediaﬂy/i;ﬁtiall&).
(iv) Tick for ‘the’ must never be USEA 1ovvecverecninensensenseenene (initially/finally).
(v) ‘Z inthe beginning is represented by ..ot (stroke/circle)

(vi) The vowel signs which are put on the left side of up énd down sfrokes are called

.................... i vowels. (preceding/proceeding).
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(vii) When initially préceded_by a vowel and followed by a horizontal stroke ‘L’ is

WIIttEn ....coevenvenee e (upward/downward).

(viii) Circle ‘S’ is written ......cccoovvevneinnnne, angles formed by two straight strokes.
(outside/insidé)-.

(ix) K/G ié a ............... stroke. (horizé)ntal/vertical).

(x) °‘R’is thigkened anc‘l halved for ......ccccoveecrennnnnn. (D/T).

Write the following words ip Shonhaﬁd : ' 15

(a) Minister

(b) Specialize

(¢) Pencil

(d) Cost

() Forty

(/) Hardware

(g) Census

() Hoaxing
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4,  Write the following Gramhnalogues/Phrases in shorthand :

@)

()

(k)

U

(m)

(n)

(0)

(a)

()

(©)

4

(@)

(@

%)

@)

(h)

Star
Otherwise
Whistle
Axis

Earth
Warfare

Authorization.

As we have

I had been

If he

I have the
Inﬂueﬁced
During
Remarked

Generalization

(

4

)
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() Tnour
() Better than
(k’) " Why do you
() Speak
(n;) Dr.

L3

()" People
(0) Northern.
Write in shorthand of the following passage : e 15 N

The food. eaten by man bears something like-the same relatién to-his power of
vworking as-the coal thrown info-the furmnace bears fo-the éngine which df‘ives the
rotary press, or draws the train. T) h? power .in-our arms or in-our brains is rightly
said fo be produCed in-ouf st_oméich,' and it-is fr-om-tf;e ‘same organ we drive the
force necessary fo-rouse us to severé exertion in-the egming Of-the wage or sé.lary we
receive for our services. Something of-the value of-our work rests upon-the streﬁgﬁth

producing value of-our food. At-all-costs, and by-all-means, we- should take measures

to- ensure-the food value of everything we eat.
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15

Write the following paragraph in English :

6.
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